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11.1/11.2 - Vectors in The
plane,P④

- vectors in 3d
-

Z
^

To represent 3d space ,

we choose a fixed:*'

:i÷÷±÷:÷:

Y
that are perpendicular

& to each other ,
called

the x - axis ,
y

- axis ,

and Z - axis ( the

coordinate axis )
.

-

it positive The direction of the z - axis is

I determined by the right-hander

µ If you curl the fingers in your

↳ \ right hand around the z-axis

U in the direction of a 900 counter -↳\ - clockwise rotation from theAgpositive x-axis to the positive

X y y - axis ,
then your thumb

Positiveposition points in the positive Z direction .



We label points in 3d pg①
as ordered triples ( x ,y,zl .
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